1.2. Aufgaben zu Bruchtermen

Berechne und vereinfache jeweils:

Aufgabe 1
a) 54_! b) §+£ c) 24_9 d) 1+E
3 3 m m c c x3 x8
13x _5x 4.2 L a_b
5 5 k k 3p 3p cz c?
Aufgabe 2
a) X Y b)i+i C)E+§ d) a_c
5 10 7d  14d a? a b3 b2
Xy a,b 4.2 2x 3
3k 6k 7x  14x X X2 y2z2  yz
Aufgabe 3
a) 5_X+3_y_£ b) i+i_L C) 3_24_2
2 6 3 4x  5x  20x x2 x x8
da2 207 ¢ 42,9 3 2 3
9 6 18 8d 6d 24d2 9m 18mn 6n
Aufgabe 4
X+1 2x—-4 3x-2 5 3 2 4 4 2
a) - + b) + - C) + -
3 2 6 a2—b2 a-b a+b p2-g?> p+q p-q
3a—4b_8a—7b+3b—4a 52 3 N 5 8 2 N 5
5 2 10 az-b? a+b a-b 4x2—-9y2 2x -3y 2x+3y
Aufgabe 5
x_y py XY g il d) Lia e X1 f) 541
a b m n p ¢ k y r
Aufgabe 6
a) 2_a+2_b_£ b) §+E_1 C) Z+g_1
5 3 6 Xy z Xy
4a 5b 7 2X 3y b5z 5x
e — = —-1+y
3 2 8 50 49 r 8
Aufgabe 7
2) 2a+3b 3a-5b b) 5x—3y 2x+3y 0 a b
5 4 2a b x+1 x-1
3-a 2-a 5 2 5 4
—_— _—— +
X y X+1 x+2 2d—e 3d-e
Aufgabe 8
2) 2a+3b-4c a-3b+5¢C b) 3X+4y 5x+y 0 2x -3y +4x—2y
4 5 2a-b a+3b 10m+3n 5m-2n
2x+5y—z+3x—4y+22 5x+3+2x—1 a+2 a+b
3 5 2x—4  x+3 az+(a+2) az—(a+2)
Aufgabe 9
X2 X X a b ab
a) - b) - +
x2-9 x+3 x-3 2(a+b) 3(@-b) az-b2?
5 3 4x 2X 3x
S +1

+ —
a—-b az-p? 4X -6y 6X+9y 24x2-54y2



Aufgabe 1
X+Yy
Q) — b
) 3 )
8x
5

Aufgabe 2
2) 2X -y
10
2X -y
6k

Aufgabe 3
2) 15x+3y -4z
6
8a® +6b° —c2
18

Aufgabe 4
12-x
6
15b-19a
5

a)

Aufgabe 5
2) bx —ay b)
ab

Aufgabe 6
12a+20b-5c
Q) ——
30
32a+60b-21
24

Aufgabe 7
37b-7a
a)
20
3y +2xX—ax—ay
Xy

Aufgabe 8
6a+27b—40c
) ——
20
19x+13y+2z
15

Aufgabe 9
2 _

2) X2 —6X
X2-9
a2—b2+5a+5b+3

aZ_bZ

Losungen zu den Aufgaben zu Bruchtermen

PSS 3|U-.

|©

7d
2a+b
14x

nx + my

mn

b)

b)

b)

b)

32x? + 24xy — 3x

24x2—-54y?

0 a+b d) 19
c 3
1 a-b
Y c
0 5+3a d) a—hc
a2 b3
4x -2 2X+3yz
X2 yZZZ
3 5x —2x? +3
— C) —_—
2X X
4d+9 6n+9m-2
2402 18mn
a+5b+5 2p-6gq+4
aZ_bZ C) p2_q2
7a+8b 6x—21y+8
az—h? 4x2—-9y?2
q-p d) 7+4k 0) X-y ) 5r+1
Pq k y r
3yz +2xz —xy 0 2X+ 7Ty —Xxy
Xyz Xy
8grx +15pry —100pqz 5x+8y -8
20pqr 8
5bx — 4ax —6ay — 3by 0 ax—bx—-a-b
2ab x* -1
3x+8 23d-9e
X*+3x+2 6d> —5de + e’
b) —T7ax +14bx + 2ay +13by 0 50mx — 35my +8nx
2a® +5ab —3b’ 50m?® —5mn —6n°
9x* +8x +13 —5a%-11a-14
2x% +2x -12 a’—(a+2)?
2 2
p 2 +ab-2b
6a2—6b?



